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Aufgabe 1
Berechne und kiirze das Ergebnis soweit wie moglich.
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a) 53" 11 b) 75 67 9513 4613 )13 15
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£) 50 - 13 87 7 h) 17 - 36 ) T7 11 01137
Aufgabe 2
Berechne und kiirze das Ergebnis soweit wie moglich.

3 19 8 15 17 27 13 23 1.9
2) 39 ° 38 b) 95 - 28 ¢) 28 " 29 095 % ®) 15 * 28

12 22 4 7 2 9 10 6 17 7
2535 &1 9 h) 1T 13 )13 7 )52
Aufgabe 3
Berechne und kiirze das Ergebnis soweit wie moglich.

39 7 23 45 45 8 15 10 45 15
) 326 b) 20 - 29 ) 383 43117 ) 1923

34 1 2 13 37 .7 . 35 41 N 720
)17 -3 8) 7 3 h) 15 7 )% 38 611
Aufgabe 4
Berechne und kiirze das Ergebnis soweit wie moglich.

29 13 5 10 5 1 1 4 5 2
a) 50 15 b) 11 - 71 ¢) 1333 4313 ¢) 3713

7 7 3 9 17 14 o 45 8

11219 e 153117 h) 33 15 )17 113

Viel Erfolg!
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